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Set Id : 62419 34 BATCH2_D.EI.Ed. Odia_11NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5) :
Read the passage and answer the questions that follow:

Maybe that's the problem. We need to find ways for you to exercise so that you don't have to make yourself do it.
Something you enjoy."

"Like what?"

"Was it the idea of going out in the cold that made you stay inside?"

Jennifer nodded. "Definitely."

"What are some things you could do instead of getting out in the cold? Things that you enjoy?"

Jennifer thought for a long minute. "You know, | really enjoy dancing.”

"There you go. All you need to do is find an online program or maybe a DVD that you can use."

Her client's face brightened considerably. "l can do that."

"How was your sleep this week?"

"Good. At least earlier in the week." A visible light-bulb moment widened Jen's eyes. "That's when | slept better."

1) What did Jennifer like to do?

A) Going out in the cold
B) Sleeping well

C) Reading books

D) Dancing

2) Why did Jennifer want good sleep?

A) She was sleepless

B) She had many children
C) She read many books
D) She looked tired

3) What was suggested to Jennifer?

A) To sleep well

B) To enjoy exercise
C) To take medicines
D) To get back to work
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4) What kept Jennifer from going out?

A) Her leg

B) The cold

C) The teacher
D) The doctor

5) When did Jennifer sleep better?

A) Earlier that month
B) Later that week
C) Earlier that week
D) On Monday

6) Fill in the blank with the correct option:

| remember our Sunday

when all family members used to sit together, and my sister used to
poor grades.

me about my
A) teas, tease
B) tease, teas
C) teas, teas
D) tease, tease

7) Which of the following phrases means to become very sad and weak because somebody has died or gone away?

A) Passed away
B) Gone away
C) Pine away

D) Bury away

8) Fill in the blank with correct prefix or suffix:

Even a good player should not estimate his opponent.

A) pre
B) re

C) under
D) over
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9) Which of the following words is correctly spelt?*

A) carnivorous
B) carniphorous
C) carnivorus
D) carniphorus

10) Which of the follwing expresses the meaning of the phrase "lumber with somebody"?

A) to give somebody a responsibility that he/she do not want
B) to give somebody a task that he/she desires the most
C) to give alternative choices

D) to provide money to a beggar
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following components of immune system forms the body’s first line of defence?

A) Antibodies

B) Skin

C) T-Lymphocytes
D) B-Lymphocytes

11) gfeml gaigia @‘aﬁlﬁj@ @amm%l@@ F1a4Q 6F6E 99189 927 9EeEl S0P @68 7

A) gede
B) qol
C) §-femaing,

D) &-Assame,

12) Which of the following played importrant role to end armed conflict between Indian and Pakistan in 1965 war?

A) Resolved through a mediation by the World Bank
B) Signing of Indus Waters Treaty in 1960

C) Karachi Agreement

D) Intervention by united nations

Wom

12) e 28 Ada gR6a QIRGTE Y5° AFYR FAYER 499 G100 23 ARSI Akl FOREe Mg saue 9ees 9fiel goe aadm 7

A) 99 SUIF QI AUIGS! ARIYAER AR 6RARER
B) e¢9o adeka aeq oF 98 AR
C) 7916 g8

D) fide QIafiRe Qlol 29684

13) In formal education, curriculum refers to -

A) an outline and summary of topics included in a text book

B) activities pertinent to student life, but not part of the regular classroom study
C) aset of courses, and their content

D) strategies of instruction, or a style of instruction
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13) GORIR daisa, al0ign 6295 -

A) ¥R Qloy g8RIea Ua¢s F90gPaa 19 QUEas| I AIard
B) lgeieq afe f&e IdieIa, fie a6 654192 PUNRE LraGeas Qea
C) 9I012A& & 629, & 6AgEae G809g

D) Gecaa QEIG1G, Ga Sedaa 1@ 6391

14) As per the Universities Act of 1904, the number of members as per the senate of universities is?

A) Not less than 50 and not more than100
B) Not less than 25 and not more than 80

C) Not less than 60 and not more than 120
D) Not less than 35 and not more than 150

14) e coxa Ggaaupa Faa 2QaI01, §45qupaa d6Qe AT Uy 660 7

A) 808 @9 Q6% B L ooQ BG GEF
B) 989 @€ Q6% B [ oQ ZYG Q6S

C) 20Q @7 962 8 € 90Q UYR Q6L
D) M8Q @9 Q6€ 6 R oQ YR 6L

15) Impactful Policy Research in Social Science is a programme of the MHRD which is implemented by?

A) The National Institute of Advances Studies
B) Ambedkar University

C) Tata Institute of Social Sciences
D) The Indian Council of Social Science Research

15) 991 99 2IQ & @ AP FURR GIRHIN 916 AFATIE QTGN FI21 QIS FITIRIEN 29 ?

A) @ qyuaqia aades 2 ULNG 8GR
B) 2i6R2eq @9994ea
C) ¢l 2R8eye 2T, 6a1TeIRN AK6]Y

D) @ agzir cega 29 caduin Ay 4ae
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) Kavita started from her home and drove her car 5 kms in the east direction. She took a right turn and went for 4 kms
and reached a mall. What is the minimum possible distance from her home to the mall?

A) 6.4 km
B) 6.0 km
C) 5.5 km
D) 5.0 km

16) @36l OF 9q 2ien o8 9ag 8 Gealfica gF dusa ewmen | O] GIRIEQ @1 64 ¥ fsnfica 2ITQ SEEM N&° 1@ AREe 0eden | OIF Ag 79
adia Qe QAN QE6I 6aEE ?

A) 6.4 @6
B) 6.0 &F.
C) 5.5 4.
D) 5.0 @4.

17) In a certain code language, if the number 8787 is coded as 7676, then how will the number 7777 be coded in that
language?

A) 6666
B) 5555
C) 4444
D) 3333

17) 4@ 869 6mla ABIER, 93 rore Tl 9999 QIRER 6918 62105, 6069 697 TSR 9999 AT q @08 sqlg @all [3F]

A) 99939
B) g888
C) ¥¥¥%
D) qinaien

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
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3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

A and B are positive integers. Is A odd?
l. A+ 2*Bis odd

II. A+ Bis even

A) 1
B) 2
C)3
D) 4

18) GCINGS 9gafesa 536 aaq :
0. 95 3904 | anqie BR9 699Ig A6ae 26T |

9. 96 990d || 1gfu anain ARG caalqg Qe 26E |
q. 96 3904 | v || asag ¥910 Gade se59 anAs QAR 659 Al adiIg 268 |

¥. 98 Q904! | e || apag 19D fude 6069 @ anaii AR 6asl Qe Aug R65 |

A e B ugige gdis 298 | A zigg ase § 7

I. A+ 2*B agg zse |
Il. A+ Bgqusai

A) ®
B) ¢
c)m
D) ¥

19) After walking 6 km straight, Ratan singh turned right and walked 2 km. Then he turned left and continued to walk. If
Ratan singh was finally walking towards North, then in which direction did he walk when he started walking?

A) East

B) West
C) North
D) South
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19) » Feaidion Tl CIRGI 06a a8 & GIRIR 9F 9 FEaIficn IAcR | PIU6R 63 @INg 9A EITIR INeIG AIdeR | 96 eor & ca86a REG I6q SIndsa,
6069 6@ PIRGI 2I6A RE9I 6e6q 69d Ga AIGQ ORdsR ?

A) 99
B) @49
C) eea
D) o8¢

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and Il taken together are NOT sufficient to answer the problem.

Isb=5?
l.(b-5)a-4)=0
I.(a-4)=0
A) 1

B) 2

o] (.
D) 4

20) GRS ggqdasa 656 qag :
0. 98 390l | anaya QAR caeiq gsaa 216 |

9. 0@ G9Qd || vgiu anain QAA saglg gsae 2ES |
. 95 8Q0E | v || angg 190 F2Ee 6869 AAAIR RRB 629 e AdiY 26T |

¥. 04 690l | ve || asagq 9916 G2de 6069 @ anaua ARG cael aid adig g6d |

b=seasear
l.(b-8)a-%)=0
Il.(a-¥)=0
A) ®

B) ¢
c)®

D) ¥
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) The chief aim of project method of learning by doing is following the goal of which of the following?
A) ldealism

B) Pragmatism

C) Humanism

D) Marxism

21) S1dy 98 §¢o 10 g8 08 ALY 6208 Ferle FUQ 69600 AN 2RUed 889 ?

A) gadae
B) geeela
C) A89eR
D) AgeI@

22) The freedom to exercise professional judgement is referred to as

A) Dichotomy
B) Attitude

C) Autonomy
D) Personality

22) 602916 a6 26910 ARIq Q1@ qaIan

A) F69I6SIA

B) 1Ggye

C) @ecisaid
D) saediginG

23) Which of the following is NOT one of the top 6 agencies for the improvement of higher education in India?
A) ICAR

B) AICTE

C) ICSSR

D) SCERT
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23) 10660 a9 JNIQ ARG AIR QI 66 AP A AIER FIRYS 6968 g6w ?

A) ICAR
B) AICTE

C) ICSSR
D) SCERT

24) Wood's Education Despatch of 1854 aimed at

A) encouraging proselytization

B) spreading western knowledge and science
C) propagating English language

D) promoting Indian classical languages

24) ersy o 0gs 99 seaaie sy eaem |

A
B
C

) ¥ 98Q¢ ?q 2aIT6 AGQ
) SIRIGY BIF I FRIG F2IR
) GPaIRT QISI a6

D) Q16612 SI10 QI8Ig 6912126 R6S

25

A)
B)
C)
D)

25)

A)
B)
C)
D)

) Which of the following point was NOT emphasized in the Macaulay minutes?

Teaching European literature and Science amongst the natives of India
The Government Funds were to be spent on the printing of oriental works

Criticized almost everything Indian: astronomy, culture, history, philosophy, religion etc.
Money should be spent in imparting Western education to the Indians.

Fange NUQ 606 99 AUEE AIRIRsR ARLER 9QQ SUKIFRAR ?

LIRER 6QIQIAIE FRIEE YERIDIA AITEY Je° FEIe daIgale

gaeial aidq 9oy @IgFea a8 aiIfl 66 eaIdingml

QEeIEE gid 408 Faag AAERICR! FRER: CRUTIRR, *YE, AEIa, ade, ud QoUF
RIeeIRAIRE aliey SFl galesa 28 ¢p @audel 2Ieaya

26) Children learn language and mathematics by

A)
B)
C)
D)

learning their spellings and their tables by heart and reciting and writing

reading and writing with meaning and developing mathematical thinking

taking dictation, copying from the board and understanding mathematical patterns
reading and writing more and more and solving more maths sums
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26) daifies 121QIal aIgl 9e° o086 dud

A) sanigea erie ve AEGLIQ ECPRGET FREDE dYQl I UG89 I SRYRI
B) 2d a%e adel 1o caas! v AidEe SarIaa S99 QRS

C) §EMGe MR, 6916q @8 @l 9e aidbe gl Q89!

D) 29 28 989 9 6RYRI S 2R 980 Aal8 ankIe /89

27) Teaching machines and programmed learning systems are based on the theory by

A) Ivan Pavlov
B) B.F.Skinner
C) Max Wertheimer
D) Daniel Goleman

27) dgeie 60de 99° 6gIgiF 62108 S QIR @° ANIT QUER TGS |

A) 881 AEHYR
B) @. <. 489
C) Mg ge'aae,
D) ©I34R 6QIERAIR

28) Maslow said that most people don’t achieve the highest need i.e. self actualisation because

A) they really don’t know what they want and how to get it

B) they are too busy earning a living and satisfying other people's needs
C) one is taught by society not to think of oneself and one's self esteem
D) they stop growing after they begin to feel self esteem

28) qieq @885 6A UYRPE SRR ATRYS AINEUACI A2 iKY gROIRAE BIYR 903 FIF QIeE

A) 696IER YROER F63 Q1P eanIER @6 QLG 1 1RIg FAd ameR

B) caciee saipaia adieia 9o 2o saieninsa Zlegiesl 908 @GQI6R 999 e
C) fe Te06a 4 A9 YAAAIR J806a §91 FRRIQ AR QI 8 FaIa
D) 6957 AIFATIG AT QA9 960 R0 @8I 98 KdGaa

29) In which year was the National Council of Educational Research and Training set up as an autonomous organisation
by the Government of India ?

A) 1959
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B) 1951
C) 1961
D) 1971

29) QIGE AT FIAl FISIDH 65FS F6QVEN ¥G° SRAF AR IR 99° 9ITG AFAR VIFEA 679 9T AITS FAIARYRI?

A) 1959
B) 1951
C) 1961
D) 1971

30) Which of the following is a Memory Enhancing technique?

A) ABCD and mnemonics
B) SQ4R & mnemonics
C) ABCD & SQ4R

D) SQ4R & memory

30) Gefige q2Q 6RA6 99 568 eae gaal ?

A) 4648 9o 61Gq

B) 1agrzIa 9e 6q17]
) 9F@E 99 vagiraa
D) vagirzie 9e 98
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Section 5 - Paperll-Odia Language

31) 652 VTG IVIRT 6RESG VIFEA F0S?

A) 9@
B) cid
C) ais
D) g2

32) geIa 9096 g9 SIN6a 699 AIg NLYE 7

A) 9
B) 9
C)2
D) @

33) 56918 ARIQ 6746 060 ceNIA 2dg Tl Qa?

A) agal
B) agomi
C) aigau
D) Gel s

34) ‘aQnd’ sea AUAIBIdsae g2 @12 |

A) aed
B) aed
C) @saie
D) 969

35) 69Q 97 VR ATER F@B 6RIT AN?

A) 6Q9e8
B) adien
C) ege1@

WtsApp/Call- 8596976190

No. of Questions: 15
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D) geaieie

36) 'URIR @ 9NIQ IK?

A) egaq
B) oqee
C) cage
D) s36adia

37) zeuia 21dea ‘QIRl’ 96D 6QIGER 900 J8g I8 |

A) 909191
B) Qieqial
C) SRRl
D) 6eRIQil

38) ‘Goe 0aql ' 2dq 948 992 9F 7904 /|

A) 6Ale1 260 aeQl
B) @& aqal

C) 4e8! agal

D) qal 6&

39) ‘cacsa al 2Ql’ 2gq S QI QF FQUd aa |

A) 696 58
B) saeq AIgel
C) 6ae o§al
D) 6966q 824!

40) FORGYS AUQ 6RAE 2R FRACUGE FIQ ARGN?

A) a0
B) aaieq
C) aa¢a
D) 2dGea
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41) ‘agiga’ 9ra asaIRde 99 QIS |

A) 2690198
B) el

C) 691a@

D) &g

42) ‘QQ9 4% @0a 900 621987

A) @Q+ae
B) a+aq
C) grae
D) g@+ae

43) aidea 6894 499 ‘FU’ YouNYD 986q I |

A) Gaida
B) qei?ul
C) 2EIGA
D) adal

44) 9064 §Ia 2ARAL AIF 6U6E 6AYIER G2l TFAUR — NOIER F6HTE 674 Q6T MLLE 6ARE?

A) Y6894
B) Geaa4l
C) adqiq
D) 21qug,

45) ‘ziue’ gee [OQGIdsque e qig |

A) Zelee
B) Zalee
C) danxia
D) gisale
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) A number 'x' is as much greater than 45 as it is less than 75. What is the value of 'x'?

A) 60
B) 61
C) 62
D) 63

48) caiga arau X' 45 q 6afd Bag, 75 Q6268 af ) 'X' @ PG 660 629 7

A) 60
B) 61
C) 62
D) 63

47) What is the length of the longest straight line that can be drawn inside a rectangle of dimension 40 cm x 9 cm?

A) 31 cm
B) 41 cm
C) 44 cm
D) 49 cm

47) ¥o safi X ¢ 6afi IRIeR 99 UACEAG FO6R A9IHF 6960 NAGIE YERERU AFARAAES ?

A) 31 ¢ad
B) 41 sad
C) 44 cad
D) 49 sad

48) There are 4 numbers lying between 1700 and 2000, which are divisible by each of the numbers 18, 10 and 5. Which
of these are the numbers? (Select an appropriate option)

A) 1720, 1770, 1800, 1890
B) 1710, 1720, 1840, 1960
C) 1710, 1800, 1890, 1980
D) 1720, 1840, 1860, 1880
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48) 1700 9 2000 cica 4 & crayi 28, aied 18, 10 e 5 geaie el qlal d08 61 VIRES | 9ang 608 raigie 6a6E ? (98 20gs §07 9189)

A) 1720, 1770, 1800, 1890
B) 1710, 1720, 1840, 1960
C) 1710, 1800, 1890, 1980
D) 1720, 1840, 1860, 1880

49) An article is sold for ¥ 800 at a loss of 20%. What is the cost price of the article?

A) Z 1000
B) % 960
C) % 900
D) % 820

49) 20% wsdea ve 2i7@a T 800 sa §3 941 6069 UTFAR 0 R4 6960 7

A) Z 1000
B) % 960
C) 2900
D) % 820

50) Which of the following is the solution of the system of linear equations 5x - 2y = 17 and 7x + 2y = 19?7

A)x=1andy=2
Byx=2andy=3
C)x=3andy=-1
D)x=3andy=1

50) Sefiee nug 6Rad s2ed@ 5X - 2y = 17 we 7x + 2y = 192 cagiae a1ead daaq anrIe 7

A)x=19"y=2
B)x=29e°y=3
C)x=34e°y=-1
D)x=39e"y=1

51) What is the area of the parallelogram whose base and height are 5 cm and 4 cm repectively?

A) 16 sq. cm
B) 20 sg. cm
C) 24 sq. cm
D) 25 sg. cm
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51) @f ¢ cafl 6 aBel ¥ 6af 798 ANRARR CASTR 6REE 699 ?

A) 16 od saf
B) 20 od sad
C) 24 ad 6af
D) 25 od 62d

52) If the ratio of two numbers is 5:9 and the H.C.F. and L.C.M. of these numbers are 8 and 360 respectively, then the
sum of the reciprocals of the numbers is equal to

A) 7/180
B) 5/120
C) 6/240
D) 14/180

52) a& 9af caue 2gae 5: 9 9er 1@ craugfen aalg 1ot aalg airen 8 1o 360, 6060 FHIPERR ARG ANE 12| AB6 AT 689

A) 7/180
B) 5/120
C) 6/240
D) 14/180

53) A shopkeeper bought 300 tubelights from a wholesaler at Z 30 each. However,100 of them were defective and were
not sold. The selling price of each of the remaining tube lights so that he gains 10% on the whole is

A) ¥ 34.50
B) % 39.50
C) % 42.50
D) % 49.50

53) wsd 6vlaint wed semsanas 0g T 30 sa 3008 cyeniss Géigsa | aedy, sagnug 100 & @fgd 3al e 950 s2IRRARI | 998 J60YR SYPRINE &
899 M1 6960 629 ARIgIRI 6 agw1a 10% ae ead 7

A) % 34.50
B) Z 39.50
C) 2 42.50
D) Z 49.50

54) The ratio of two numbers is 3:4. What could be the ratio of the resulting numbers, if 10 is subtracted from each of
them?
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A) 7:8
B) 9:10
C) 23
D) 4.5

54) qaf reie agale 6298 3:4 | 98 caniew gevrolg 10 6aIa @AIAN, 6669 TRITR THIYERR QUG 6R6E 62IRAER ?

A) 7:8
B) 9:10
C) 23
D) 4:5

56) If A= {a.e,i,o,u} and B = {a,i,k,u}, then which of the following denotes the set {e,0}?

A) B-A
B)A-B
C)AUB
D)ANB

55) a& A = {a,e,i,o,u} w& B ={a,i k,u} 24, 6662 Fafae aug 696d 6ac {e,0} 966 qsa?

A) B-A
B) A-B
C)AUB
D)ANB

56) A perfect square number has 11 factors. Which of the following can be the number?

A) 10,000
B) 6,400
C) 1,024
D) 625

56) ve g4 od cratica 11 § Q1@ 0881 FRHe AUQ 6096 628 e 62RAEE 7

A) 10,000
B) 6,400
C) 1,024
D) 625
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57) In an equilateral triangle with area 64v3 sq. units, all the 3 altitudes are drawn. What is the distance of any of the
vertex from the point of intersection of all the 3 altitudes of the triangle?

A) 43 units

B) 8/3 units

C) 12/N3 units

D) 16/v3 units

57) e an9ig 89 6Aeae 95 \VN adder, 12Ia 17 96! 26 6210 | M ascia fee 09 5990 64 6FIAA H1da 9a0l 6RE ?

A) 43 gae
B) 8/V3 gae
C) 12N3 gée
D) 16/V3 gé¢

58) The ratio of the prices of the two t-shirts is 15:16. If the price of the first is increased by 20% and that of the second
is increased by Z 160, then the ratio of the prices becomes 3:4. What is the price of the 1st shirt?

A) 300

B) ¥ 320

C) Z 340

D) ¥ 360

58) 9af ¢-ade gaua 29016 15:161 0d ganda gai 20% e §erada g T 160 g 9F aaIaI, 6669 e 29ale 3. 4 c2IRQN | 6069 °F AITR
FlaY 6969 7

A) 2300
B) Z 320
C) % 340
D) Z 360

59) LetA={2,468,...},B={135.7.9,..}and N be the set of Natural numbers, which is the universal set, then A’ U
(AUB)NB)=

A) A
B) B
C)N
D) {}

59)A={2,46,8,...}, B={13579,...} 9 N geie ragies sac 629, a2l c208 4109 cac,sese AU (AU B) N B’) =

A) A
B) B
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C)N
D) {}

60) If a five digit perfect square ends with 4, then which of the following is definitely false?

A) The ten's digit of the number is zero
B) The ten's digit of the number is odd
C) The ten's digit of the number is even
D) The ten's digit of the number is 4

60) 0@ 9@ are s 844 Tgd 94 ¥ 60 QAIY 24, 6669 F6IB AUQ 69T FAE NFEa Fayl ?

A) € TR 089 BT g8
B) @ Teie @69 84S 299
C) <@ Taiia @8% 2 94
D) 9@ TeR 969 8F ¥
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The border line between Earth's atmosphere and Outer Space is termed as

A) Venus Line
B) Karman Line
C) Space Line
D) Durand Line

61) 9918 QIPASH 1&" 1Y QIR AUSR AIF 6% YDNIIER FEITIREN

A) 6819 MR
B) AR fliEe
C) 644 M@
D) ZRUS M

62) Continental crust of the Earth is mostly composed of different types of

A) Quartz
B) Granite
C) Basalt
D) Obsidian

62) 92919 QIRT1U ROR JIAcE F8R JRIA I8 9g6a G0

A) QI5q

B) gieiag
C) eeain,
D) 6eddag

63) Who decides the disputes relating with allotment of symbols of political parties?

A) Prime Minister

B) Election Commission

C) Speaker of the Lok Sabha
D) President
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A) quIeaa!
B) Aiee aisala
C) sReAR AI6IE

D) qugae

64) The first site to be discovered in the Indus Valley Civilization was

A) Kalibangan
B) Harappa

C) Mohenjodaro
D) Dholavira

64) A8 RAGHR! ANIGIA 2GS 62RYQ! G2F ART R

A FANLUGPR
B) ¥olYl

C) sqeesaiaieal
D) sxii@al

65) Which among the following options is the oldest Barrier Coral reefs?

A) Andaman and Nicobar Islands
B) Lakshdweep

C) Australia Great Barrier Reefs
D) Gulf of Mannar Reefs

65) dqfse F9895@ AuQ 60uF 6298 QAISE MIGTQ 6RIRIR B ?

A) UDIAIR NS FERIeR QAT
B) a1

C) ue8fal 696 IRER &g
D) 99 8T 9918 &g

66) The largest division of the geologic time scale, that spans hundreds to thousands of millions of years is termed as
A) Eon

B) Epoch

C) Period
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D) Era

66) 6R169IRR AFIK 6ANG AX QL0 FRIFR, AT 920 2RI6A @ AQ 9 adys QuIdag

A) Q6]
B) qsalie
C) daeig
D) wau

67) The primary objective of the Indian Federal system is?

A) to safeguard and promote unity of the country
B) to mitigate regional and state diversity

C) to mitigate linguistic diversity

D) to mitigate cultural diversity

67) 910910 6TLRIRN NYIA 79 AN 629F

A) 6946 160! 6Bl Ie° 69I9E6 QAR
B) 2rede 1e° qigugaia S5ueiq 21 98a

C) amiéele §5u0iqQ a1a 959

D) @rgde SRueIg 2iA @8

68) The Comptroller and Auditor General of India acts as the chief accountant and auditor for which of the given bodies?

A) State Government

B) Both Union and State Government
C) Union Government

D) Neither Union or State Government

68) Gqea TuIRdQl 6aY TYYFR Ui ARG AEYIRQ I UFTR CRERAUR JHH URITEFS IS UGTR AUNEQ QY @0 7

A) QY Qoo

B) @wa 6a4 e° QR IeeIQ
C) 69R IR

D) @1 @ cer, 0l € aisn aaria

69) Which of the following places of India is closest to the Equator?
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A) Lakshadweep
B) Andaman and Nicobar Islands

C) Dadra and Nagar Haveli and Daman and Diu
D) Tripura

69) aIeea FAYe Yrgee FIQ 6R96 Q1 6a4Ia Aacsa 683 7

A) QEIQ1a

B) z@iqIe 9e PERI9R YIS

C) Q121 ¥&° 998 21604 1" QAR 1e° 89
D) 8.

70) Why was Simon Commission sent to India in 19287

A) To frame a new Constitution for India

B) To persuade Gandhiji to attend the Round Table Conference in London
C) To look into the functioning of the Indian Constitutional system and suggest reforms
D)

To try and imprison Indian revolutionary leaders so not to disturb the Govt.

70) e¢9r ca ARae @i eeq 9186 aoINdI ?

A) 9166 918 9@ §9F AR 08 RER! Al
B) RER6Q 641N 65QR 67006 60IG62RIQ AIRRIG ARIRR! Al

C) Qee1R AR QIR FNRIREIY 6RYRI 16 IR ISR Alel ARIFd 6291 el

D) 608 Q4916 QRe1A AR 6REINING QIAIGINER QYS! Al AIRIQA! ARRIAT T 6291 989 aIF

71) Which Mughal ruler introduced a silver coin called 'Rupiya' during the medieval period in India?

A) Alauddin Khilji
B) Muhammad bin Tughlaqg
C) Akbar

D) Sher Shah Suri

71) 629 6FITA FIAR RAGER 1Yol QIRER '@@8“' QIR 9@ Qdl (191 J@e QQgeM?

A) 2RISR YRS
B) ceqe aq gomiq
C) aieea

D) saa4I2 ga1
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72) According to the IUCN for 2015, which species among the given options is the most endangered?

A) Sparrows

B) Mountain squirrels
C) Great Indian Bustard
D) Pelicans

72) 90¢86a RG4S AQQIG1, PRSI F99ER FUQ 696 JFIT 6208 A901Q §999 S ?

A) Feedl

B) 2i21@ goqsl
C) f121F QIee1 Qe
D) ¢

73) If a Fundamental right of a citizen is violated, he/she can directly approach the
A) Supreme Court

B) High Court

C) District Court

D) Either Supreme Court or High Court

73) 9@ Q10890 99 67178 ZUFINR AFFAR 94, 6069 6a QIARY YLIF FFE] TIRUIRED

A) 999 6ai¢
B) @iesqld
C) @a) 6aid

D) gge eais aa 2iasaid 6@IEET @

74) The area bounded by the Tropic of Capricorn and the Antarctic circle on the Earth is known as

A) North Temperate Zone
B) South Temperate Zone
C) Torrid Zone
D) Frigid Zone

74) 7eQ Q18 ¥&° Q2910 2relaee 98! QIal QIFe LroR 12| INea F4IgEl

A) ofa 916018 688
B) @8 Aa4166I8 6819
C) gng a4a

D) facam
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75) Which Viceroy of India declared that India has joined the second World War in 1939 without consulting Congress?

A) Lord Clement Attlee
B) Lord Linlithgow

C) Sir Stafford Cripps
D) Lord Mountbatten

75) 21666 624 QIRAAIL 184 REZ6R 60 AIGE © ¢MNC ATLIER e°6gd IG6 ORINE ARG G010 FYRER 6dId 690E 7

A) &€ gsre 2IcsR
B) ag ARl
C) 9 a1a¢ 89

D) @6 airequiseq



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Section 8 - Paperll-Science

No. of Questions: 15

76) Which among the following will be the product formed when ethyl chloride is reacted in presence of Na metal in dry
ether?

A) CH3-CH2(CHa3)-CHs
B) CH3-CH2-CH3

C) (CHz)4

D) CH3-(CH2)2-CHs

76) 9unl eacsa Na dga aaffen aan eqiaae 9igadin socn F08ye g 668 a9 98 629 7

A) CH3-CH2z(CH3)-CHs
B) CHs-CHz-CHs

C) (CHz)4

D) CH3-(CH2)2-CHs

77) What kind of defect is Frenkel and Schottky defects in some solids?

A) Metal-excess defect

B) Metal deficient defect
C) Impurity defect

D) Stoichiometric defect

77) 69609 9006 625aR I5° 464 6QQ RING ¢F 266 7

A) dIg-USHR 9F
B) ¥Ig zaie gF
C) ugael g8

D) quaaiaadfioln 9°aes e

78) A 5 kg body has an acceleration of 4 m/s2. What is the net force acting on it?

A) 40 N
B) 10N
C) 30N
D) 20 N
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78) 9@ 5 kg 9gQ 206 6298 4 m/s? | 12 AU6A RIF FQRF| ALK IR 6R6E ?

A) 40N
B) 10N
C) 30N
D) 20N

79) The pigement responsible for pinkish nature of nodules in leguminous plants is

A) Carotenoid

B) Chlorophyll

C) Leghaemoglobin
D) Mauveine

79) sagficd adag@ase 6RIgNA caIRIT 998 aIe @It Jasere 6208

A) RCQTHIR
B) sRleaIFa
C) fsaselieq)ae
D) AeQiee

80) The valvate type of aestivation is found in

A) Gulmohur
B) Cassia

C) Calotropis
D) China rose

80) aimsae gelea sdRdinad v8sa ddan

A) m6aIe
B) audal

C) @leRiegiaa
D) ¢lag! 6819

81) What product will form when propene is subjected to ozonolysis?

A) Acetaldehyde only

B) Formaldehyde only

C) Acetone and formaldehyde

D) Acetaldehyde and formaldehyde
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81) 6a60eees 67I60R B6RISRINIREA BUIRER AN, 6ACEERER 6A¢ 2@ §F 629 7

A) 629@ UEAGINGINS

B) s@ee afedaiae

C) 13seiq 9o adindaiae

D) 2easInGIne e° adiafeee

82) How many atoms are there per unit cell for a solid forming face centered cubic lattice?

A) 4
B) 3
C)2
D)6

82) w@ @02 Q07 g8 98 6986 AITING Y GFe 637 9T 666 ORIy QFE ?

A) 4
B) 3
C)2
D) 6

83) Consider an ambulance van moving along a straight horizontal road with a speed of 72 km/h. If the coefficient of

static friction between road and tyres is 0.5, the shortest distance in which the ambulance van can be stopped is ( Given,
g=10m/s?)

A) 30m
B) 40 m
C)72m
D) 20 m

83) U@ 2IAIF QIR IR ARY AFISAR QY6 72 &.51./A9! 69660 66 @RI 9E QLI 1e° TINIA 1160 TQ QTSR FEIF 0.5, 666@
AN UIF ASR VIRAIR AR QQGI 6298 (9@, g =10 m/s?)

A)30m
B) 40 m
C)72m
D)20m
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84) An organelle of bacteria that appears as an invagination of the plasma membrane and functions either in DNA
replication and cell division or excretion of exoenzyme is called

A) magnetosomes
B) carboxysomes
C) mesosomes

D) ribosomes

co

4) IEQRIR ¥ AT AR YR 6ARIRR LIRFE QIPEH QU ¥e° DNAGRR ¥6° 6018 GRIee Q9 I6FKaaRIaf FQIasa K1Y
QEQ CIRIQ. QI |

A) QuIEaI6S 51

B) @I921a6RI]

C) s76alewIq)

D) URNELIERIT]

85) The word chloroplast is derived from the Greek words chloros, which means green, and plastes means

A) set of membranous tubules
B) network of membranes

C) the one who forms

D) thread like structure

85) sqleaige 4 gif 48 61J6RIAQ Q4Y, AIRIA Bd AR, 1&° gAY @ a8

A) sanicea syaa Q 698
B) 6768,09@ea saeygid
C) 84 60% @6

D) Teeq a3 96|

86) Which of the following statements is FALSE with reference to Hydrophytes?

A) Sclerenchyma is poorly developed or absent
B) Secondary growth occurs

C) Vascular tissue particulary xylem is there in small amount
D) Arenchyma is well developed helps in buoyancy and gaseous exchange

86) aiscairiogg ¢ ©8ea SaAue rug 6Red Aol 268 7

A) SASTRIRA SR QIER Fadc G agade
B) Alufe G ase

C) aIgaa §9 afeaIe 1asan 28 aaneea 28

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Join Us-

D) zIssrael af GI96a Fade 62108 19° G IRFAAEER ARIAY @68

87) What plausible reason can be provided for the greater capillary action of water compared to mercury?

A)  Force of adhesion between glass and mercury more than cohesion between mercury molecules

B) Force of adhesion between glass and water less than cohesion between water molecules

C) Force of adhesion between glass and mercury equal to the cohesive force between mercury molecules
D)

Force of adhesion between glass and water more than cohesion between water molecules

87) 010@ 2RRIER FRA S TR QIdY Qlgl 699 YIS QIed J9IR FAIRTGR ?

A) GIR? 24geq Auea ARe YEASI QA I JIRQ A6A 26RAR sTId

B) @« FgYER AU6R RF0IQ B GJd I8° FF AU AIEPARF 6T

C) GIQ 4" 0@ FrIER 622 6014 AIGAR IS ARIEa AFe 63 a6 anie
D) &% AGYER U6 fiRe U6TSl §Ja I K YR ZIcear eaid

88) A machine gun fires six bullets per second into a target. The mass of each bullet is 3 g and the speed 500 m/s. The
power delivered to the bullet is

A) 1.5 kKW

B) 2.25 kW
C) 0.75 kW
D) 3.75 kW

88) 1@ 6A1da 9 601G GIEEIeq IUF 6ARUER BAT GF IRINANI Y6LYR JAa 9gQ 3 gIF e 639 500 M/s | gRg IR
QLIRS IF 6208

A) 1.5 kwW

)

B) 2.25 kw
C) 0.75 kW
D) 3.75 kW

89) How many molecules of ATP are required to fix one molecule of nitrogen?

A) 12
B) 18
C) 10
D) 16



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

89) aesiowiea 606 ¢ 5@ RAIg ABS Q 6966 A ZINENR ?

-]

o
o
el

L) €
o o
Ww o

90) In Endoplasmic reticulum the term reticulum was used to denote the

A) jelly-like mass of protoplasm
B) nucleo-cytoplasmic interaction
C) oval or rounded sacs

D) network-like appearance

90) wsaig@Ifia cafqan 6a cafqaa Jaq GHIRS| IR 19 ILE 62IRSM

A
B

C
D

69I6CIIRNR 6RF T& QI

PYa6-aResIg@Ifie aeade Fal
Qe § saIQIRIa aAG

i Tt

6963F 98 QAR
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Question Paper No: 62419 34
Answer Key
1D 31| B 61 | B
2| A 32|C 62 | B
3|B 33A 63| B
4| B 34 A 64 | B
3 |G 35(A 65| C
6| A 36 | D 66 | A
7|C 37D 67 | A
8| C 38| B 68 | B
91 A 39D 69 | B
10| A 40 | A 70 | C
11| B 41 | C 71| D
12D 42| C 2 | €
13| C 43 | D 73| D
14| A 4 | A 74 | B
15| D 451 C 75| B
16 | A 46 | A 76 | D
17 | A 47 | B 77| D
18| A 48 | C 78 | D
19| C 49 [ A 79 | C
20 (D 50| C 80 | C
21| B 51 B 81| D
221C 521 A 82| A
B3 R 53D 83| B
24 | B 54| C 84 | C
6V B 55|B 85|C
26 | B 56 | C 86 | B
27 | B 57D 87| D
28 | D 581 A 88 | B
29 [ C 59|C 89 | D
30| B 60 | B 90 | D
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